
7��7������
'(6,*1�)($785(6
� '20(�����PP�GLDPHWHU�VLON�GRPH�� 92,&(�&2,/��3XUH�FRSSHU�RQ�DOXPLQXP�IRUPHU��� �� PP��� 0$*1(7,&�&,5&8,7$7,21��+LJK�WHUPDO�VWDELOLW\�1HRGLPLXP�PDJQHWL]HG�ZLWK�DQ�LQWHUQDO�SURFHGXUH�� 02817,1*�6<67(0��7UL�PRXQW�ZLWK�DGDSWRUV��IRU�H[WHUQDO��LQWHUQDO�RU�EDIIOH�XVDJH�
'HGLFDWHG�WR�WKH�³7HQ´�OLQH��WKLV�WZHHWHU�LV�DQ�DOO�SXUSRVH�LWHP�7KDQNV�WR�WKH�GRPH�VKDSH�DQG�WKH�FDUHIXO�HYDOXDWLRQ�RI�ZHLJKWV��LWV�UHVSRQVH�LV�PRUH�DJJUHVVLYH�DQG�TXLFN��UHDG\�IRU�PRGHUQ�PXVLF�

7�����,03('$1&(

7������)5(48(1&<�5(63216(

'XH�WR�WKH�FRQWLQXH�LQFUHDVH�LQ�WKH�SHUIRUPDQFHV��WKH�SDUDPHWHUV�DUH�VXEMHFW�WR�FKDQJH�ZLWKRXW�QRWLFH�

'� �´�± ���PP5H� �����2KP&PV� �/H� �����=QRP������� ��RKP0PV� �3PD[� ���:�������N+])V� �����+]%O� �����1�$


	                                                                     T 10  IMPEDANCE
	                                                            T 10   FREQUENCY RESPONSE

